
MAT137

TODAY: Ratio test. Review of all convergence tests.

Next week’s tutorial: Review of all convergence tests.

Playlist 14: Power series and Taylor series

Monday: Power series – (Watch videos 14.1, 14.2)

Wednesday: Taylor polynomials – (Watch videos 14.3, 14.4)

Friday: Taylor series – (Watch videos 14.5, 14.6)



Ratio test: Convergent or divergent?

Use Ratio test to decide which series are convergent:
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More on convergence

Let
∞∑
n

an be a positive, convergent series.

Determine whether the following series are convergent,
divergent, or we do not have enough information to
decide:
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Back to your mission: prove ...
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STEP 2: Writing other sums in terms of harmonic sums

Recall: HN =
N∑

n=1

1

n
. It is called a harmonic sum.

Write the following sums in terms of harmonic sums.
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STEP 3: Finish them!

You proved there exists a convergence sequence {cN}∞N=1 such that

∀N ∈ N, HN = lnN + cN

You wrote A2N = 1− 1
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in terms of harmonic sums.

Calculate
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Challenge! Calculate
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